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Direction : Answer the following questions
by selecting the correct option.

Which one of the following is
associated with exogenetic force?

(A) River erosion

(B) Volcanic activity

(C) Continent-forming movements

(D) None of the above

Which one of the following is
associated with diastrophic forces?
(A) Glacial erosion

(B) Karst erosion

(C) Emergence of coastline

(D) None of the above

The frost action is associated with
(A) physical weathering

(B) chemical weathering

(C) biological weathering

(D) None of the above

Which one of the following streams

has the direction of flow controlled
by rock structure?

(A) Consequent stream
(B) Subsequent stream
(C) Obsequent stream

(D) None of the above

‘Badland topography’ is produced by
(A) snowstorm

(B) rainstorm

(C) hailstorm

(D) None of the above
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10.

Which one of the following is an
unstable landform of the earth?

(A) Scandinavian
(B) Himalayan
(C) Deccan

(D) None of the above

‘Fumarole’ is produced from
(A) earthquake

(B) volcano

(C) erosion

(D) None of the above

Fault-line scarp is the result of
(A) second cycle of erosion

(B) first cycle of erosion

(C) arid cycle of erosion

(D) None of the above

Mushroom landform is found in the
regions of

(A) savanna of Africa
(B) great plains
(C) Sahara desert

(D) Deccan trap

Geomorphology is

(A) a systematic study of Iland
formation

(B) a systematic study of land
features

(C) a systematic study of landforms
and their origin

(D) None of the above
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11.

12.

13.

14.

15.

A river is called ‘misfit’ when

(A) a big river flows in a narrow
valley

(B) the river meanders in its course

(C) a river is cut off and looks too
small for the main valley

(D) None of the above

Which one of the following is
farthest from the seashore?

(A) Continental shelf

(B) Abyssal plain

(C) Continental slope

(D) None of the above

The zone of maximum salinity in the
northern hemisphere is from

(A) 20°-40° N

(B) 0°-20° N

(C) 20°-35° N

(D) None of the above

Which one of the following is known
as iceberg?

(A) Pack ice

(B) Floe ice

(C) Field ice

(D) None of the above

What is the movement of counter-

equatorial current of the Pacific
Ocean in the equatorial region?

(A) East to West

(B) Southeast to Northwest
(C) West to East

(D) None of the above
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16.

17.

18.

19.

20.

Labrador Current flows from

(A) North Atlantic Ocean to South
Atlantic Ocean

(B) Atlantic Ocean to Arctic Ocean
(C) Arctic Ocean to Atlantic Ocean
(D) None of the above

Which one of the following ocean

currents is common to Pacific,
Atlantic and Indian Oceans?

(A) Labrador Current

(B) Kuroshio Current

(C) Gulf Stream

(D) West Wind Drift

Most of the dissolved materials in
sea-water are derived from

(A) seafloor

(B) atmosphere

(C) remains of marine organism
(D) None of the above

The proportion of different salts
present in seawater

(A) remains constant

(B) changes
another

from one place to

(C) changes with seasons
(D) None of the above
A shallow stretch of seawater partly

or completely separated from the
open ocean by a reef is called

(A) lagoon
(B) atoll
(C) strait

(D) None of the above
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21.

22.

23.

24.

25.

Due to salinity of water, the boiling
point of ocean water is

(A) relatively lower than that of
freshwater

(B) relatively higher than that of
freshwater

(C) same

(D) None of the above

The proportion of albedo in the
global heat budget is

(A) 50%
(B) 24%
(C) 34%
(D) None of the above

Which one of the following refers
to the maximum quantity of water
vapour which the parcel of air can
hold at any given temperature and
pressure?

(A) Relative humidity
(B) Saturation point

(C) Absolute humidity
(D) None of the above

Where the Coriolis force is extremely
weak?

(A) Tropic of Cancer
(B) Tropic of Capricorn
(C) Equator

(D) None of the above

Which of the following forces is
associated with Ferrel’s law?

(A) Pressure-gradient force
(B) Frictional force
(C) Coriolis force

(D) None of the above
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26.

27.

28.

29.

30.

Which latitudinal belt is commonly
known as Doldrum?

(A) 35° North and South

(B) 10° North and South

(C) 45° North and South

(D) None of the above

Relatively narrow bands of high

velocity winds in the upper
troposphere are called

(A) Hurricanes
(B) Typhoons
(C) Jet streams

(D) None of the above

Extra-tropical cyclones have

(A) eye of cyclone

(B) diverging winds

(C) fronts

(D) None of the above

The mediterranean type of climate

receives most of its precipitation
during

(A) summer

(B) winter

(C) the whole year

(D) None of the above

In the equatorial type of climate, the

diurnal range of temperature varies
from

(A) 5°C to 14°C

(B) 0°C to 2°C

(C) 15°C to 25°C

(D) None of the above
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31.

32.

33.

34.

35.

The main cause of monsoon climate
is

(A) low temperature
(B) high temperature
(C) seasonal reversal of wind

(D) None of the above

The type of rain on the slopes of
Jayantia Hills of Meghalaya is

(A) cyclonic rain

(B) convectional rain

(C) orographic rain

(D) None of the above

The condition favourable for

precipitation is

(A) low moisture content
(B) high moisture content
(C) cooling of air

(D) None of the above

Leaching of soil is caused by

(A) removal of debris by running
water

(B) changes in the soil through
organic activity

(C) removal of organic matter

(D) removal of soluble matter by
percolating water

Pedalfer soils are rich in
(A) aluminium and iron
(B) iron and calcium
(C) iron and sodium

(D) None of the above
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36.

37.

38.

39.

40.

Conifer trees flourish in

(A) pedalfer soil

(B) pedocal soil

(C) laterite soil

(D) None of the above

The process of energy conversion

from solar heat energy to chemical
energy is known as

(A) photosynthesis

(B) transpiration

(C) radiation

(D) None of the above

The term ‘ecosystem’ was first used
by

(A) W. M. Davis

(B) E. P. Odum

(C) A. G. Tansley

(D) None of them

The main cause for the large-scale
destruction of savanna vegetation is
(A) overgrazing

(B) transformation of forests into
pastures

(C) conversion of forestland into

agricultural land
(D) None of the above
Which of the following derives their
energy from herbivores?
(A) Autotrophs
(B) Carnivores
(C) Omnivores

(D) None of the above
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41.

42.

43.

44,

45.

Which one of the following
constitutes the second trophic level
of food web?

(A) Omnivores
(B) Carnivores
(C) Herbivores

(D) None of the above

Which one of the following is
the uppermost sublayer of the
thermosphere?

(A) Exosphere

(B) Troposphere

(C) Tropopause

(D) None of the above

Which law of thermodynamics states

that there is always a loss of energy
in any transfer of energy?

(A) First
(B) Second
(C) Third

(D) None of the above

Which one of the following is known
as closed savanna?

(A) Woodland savanna

(B) Shrub savanna

(C) Grass savanna

(D) Tree savanna

Which one of the following is caused
by faulty method of irrigation?

(A) Wind erosion

(B) Gully erosion

(C) Salinization

(D) None of the above
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46.

47.

48.

49.

50.

Which one of the following
extinctions of biodiversity was due
to human modifications of nature?

(A) Quarternary extinction
(B) Cretaceous extinction
(C) Triassic extinction

(D) None of the above

Which one of the following is

correct?

(A) Taiga—Sclerophyll ecosystem

(B) Tropical biome—Boreal forest

(C) Mediterranean biome—Decidu-
ous forest

(D) Marine biome—Phytoplankton

B-horizon is the zone of

(A) illuviation
(B) deposition and erosion
(C) original materials

(D) None of the above

Eluviation process is meant for

(A) depositing the soil particles in

the subsoil layer

(B) transporting the soil particles in
B-horizon

(C) removing the particles from
upper layer of the soil

(D) None of the above

Tropophytes can stand against

(A) high temperature

(B) chilly climate

(C) alternate deficit and surplus
moisture condition

(D) None of the above
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51.

52.

53.

54.

55.

The hot dust laden wind blowing
from Sahara desert to
mediterranean region is called

(A) Chinook
(B) Fohn
(C) Sirocco

(D) None of the above

Fiords are very typical of the
(A) Alaskan Coast

(B) Soarish Coast

(C) Norwegian Coast

(D) None of the above

Tsunamis are caused by the
(A) volcanic eruption

(B) earthquake

(C) changes in sea level

(D) None of the above

International migrations have

declined because

(A) it is of no longer economical

proposition
(B) various countries have imposed
strict restriction of immigration

(€)
(D)

the transport cost has escalated

None of the above

Two regions of similar environment
can have different degrees of
population concentration because

(A) the two have different racial

structure

(B) the two have different
perception about density

(C) the two have different history of
settlement

(D) None of the above
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56.

57.

58.

59.

60.

Which is the most crowded area of
the world?

(A) Wheat-growing area
(B) Cotton-growing area
(C) Rice-growing area

(D) None of the above

Veld’, ‘Buffalo’, and ‘Bunch’ are the
names of grasses found usually in

(A) rainy tropical regions

(B) dry continental regions

(C) temperate highland regions
(D) None of the above

Optimum population is calculated
as par

(A) population and resources
(B) population and his potentiality
(C) population and food

(D) None of the above

The most important ecological factor
that determines the distribution of
population is

(A) mortality rate
(B) climate
(C) fertility of land

(D) None of the above

Humid farming depends on
(A) rainfall that exceeds 20"’
(B) rainfall that exceeds 30"’
(C) rainfall exceeding 15"

(D) None of the above
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61.

62.

63.

64.

65.

Plantation comes in the category of
(A) horticulture
(B)
(©)

(D)

animal husbandry
monoculture

None of the above

In Indonesia, shifting cultivation is
known as

(A) Caingin

(B) Ladang

(C) Milpa

(D) None of the above

In which one of the following

farming types livestock holds the
prime position?

(A) Shifting cultivation

(B) Mixed farming

(C) Intensive farming

(D) None of the above

In which of the following farming
types, capital input is the highest?
(A) Intensive farming

(B) Mixed farming

(C) Extensive farming

(D) None of the above

Which one of the following trees has
been the chief source of quinine
required for eradication of malaria?

(A) Zapote tree
(B) Cinchona tree
(C) Chestnut tree

(D) None of the above
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66.

67.

68.

69.

70.

The important commercial fishing
ground which supplies the largest
amount of fishes in the world, is

(A) Northwest Atlantic Coast
(B) Northeast Atlantic Coast
(C) Northwest Pacific Coast

(D) None of the above

With which among the following,
‘triangle concept’ of Industrial
Location Theory is associated?

(A) Smith

(B) Von-Thuinen

(C) Alfred Weber

(D) None of the above

Chiplima hydel power plant is built
on which river?

(A) Mahanadi
(B) Krishna
(C) Sarabati

(D) None of the above

For the construction of dam, which
one is necessary?

(A) Broad valley

(B) Narrow valley

(C) Steep valley

(D) None of the above

Atomic power is the source of
(A) uranium
(B)
(€)

(D)

platinum
silver

None of the above
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71.

72.

73.

74.

75.

The Headquarters of Tropical Forest
Research Institute is at

(A) Dehra Dun

(B) Simla

(C) Jabbalpur

(D) None of the above

Which of the following is the hardest
mineral?

(A) Tungsten

(B) Gold

(C) Diamond

(D) None of the above

The best known aspect of Green
Revolution is

(A) the development of agricultural
land

(B) the development of high-yielding
varieties of crops

(C) the development of irrigational
facilities

(D) None of the above

International trade is  mostly

governed by

(A) regional specialization of
production

(B) purchasing power of people

(C) friendly relationship with the
countries

(D) None of the above

Which one of the following features
is not the characteristic of developed
countries of the world?

(A) Low proportion of employment
in agricultural activity

(B) High annual rate of growth of
population

(C)
(D)

High literacy rate
None of the above
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76.

77.

78.

79.

80.

High density of population in more
developed nations in Europe is
associated with

(A) an effective use of land

(B) high degree of urbanization
(C) long history of settlement
(D) None of the above

Which one of the following is the
centre of gravity of population of an
area?

(A) Mean point

(B) Median point

(C) Point of minimum aggregate
travel

(D) None of the above

Which one of the following is the
ratio between total population and
total area?

(A) Physiological density
(B) Agricultural density
(C) General density

(D) None of the above

In agrarian societies, which index
is treated as better index for
measuring degree of population
pressure?

(A) Agricultural density
(B) Nutritional density
(C) Arithmetic density
(D) None of the above

The term ‘mature town’ has been
used in which type of classification
of urban settlement?

(A) Hierarchical classification
(B) Functional classification
(C) Morphological classification
(D) None of the above
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81.

82.

83.

84.

85.

The rural settlement of the Gangetic
plains is known as

(A) water point settlement
(B) agglomerated settlement
(C) dry point settlement

(D) None of the above

Nucleated rural settlements

mostly common in

are

(A) arid zones
(B) deltas
(C) mountainous region

(D) None of the above

First stage of
transition model is

demographic

(A) high birthrate and high death
rate

(B) high birthrate and low death
rate

(C) high death rate and low birth-
rate

(D) None of the above

What is the most vital factor that
distinguishes between rural and
urban settlements?

(A) Functions

(B) Social organization
(C) Social mobility

(D) None of the above

Dry point settlements are most
common in

(A) upland plains
(B) deltas
(C) mountains

(D) None of the above
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86.

87.

88.

89.

90.

In Tripura, Research Station of
Horticulture is located at

(A) Nalakata
(B) Nagichhara
(C) Lembucherra

(D) None of the above

The first gas-based power station of
Tripura is in

(A) Baramura
(B) Dambur
(C) Palatana

(D) None of the above

In Tripura, where is the main solar
plant located?

(A) Jampui
(B) Ramchandra Nagar
(C) Rokhia

(D) None of the above

Where is Khowai barrage located?
(A) Chakmaghat in Teliamura

(B) Maharani

(C) Amarpur

(D) None of the above

Zonal soil type of Peninsular India
belongs to

(A) red soil
(B) yellow soil
(C) black soil

(D) None of the above
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91.

92.

93.

94.

95.

Which one of the following mountain
chains has two dissimilar types of
vegetation on its two slopes?

(A) Aravallis
(B) Vindhyas
(C) Western Ghats

(D) None of the above

The greatest potential for the
generation of tidal power in India is
available in the

(A) Malabar Coast
(B) Konkan Coast
(C) Gujarat Coast

(D) None of the above

Choropleth maps show the
(A) density of population

(B) distribution of population
(C) landuse pattern

(D) None of the above

Contour of equal spacing represents
(A) gentle slope

(B) steep slope

(C) uniform slope

(D) None of the above

Which of the following is positional
in nature?

(A) Mean
(B) Mode
(C) Median

(D) None of the above

20

91.

92.

93.

94.

95.

s TEfS (@I AT 7o gl 13
$JCea Refdredst Tfen o T 2

(A) SERE!

(B) =

(C) iP5

(D) Tolcaa (FMbces T

TACSd @ OWCE  (SRE-onl ¥fed
FACFF NEF TR AR O ST

(A) TRTRIE ToRFCST
(B) CPI% THFCa
(C) &AL T7Fca
(D) Tolcaa (@FIbCee T

CPICATCAL TAMDCAT IR TR B
(A) EeTETg

(B) SePIUIR G

(C) & =S T

(D) T (PIIGE T

SRS ACHAES (I SqE (T PRI
2[B] TB, I 23

(A) 7 Ol

(B) ©FF Tlel

(C) «F=I BT

(D) Som (e

TN @D AFFoTTSIT T T 2
(A) oTe

(B) T

(C) w51t

(D) TR (@DR



96.

97.

98.

99,

100.

Which one
correct?

(A) Dot map—Population
bution

of the following is

distri-

(B) Chorochromatic
of population

map—Density

(C) Contour—Distribution of
temperature

(D) Salinity—Isobars

Streams their work

‘erosion’ by

perform

(A) saltation
(B) corrosion
(C) suspension

(D) None of the above

Sand dunes are the results of
(A) sand particles brought by wind
(B) dust particles brought by wind

(C) pebbles and gravels brought by
water

(D) None of the above

Who stated, ‘Landscape is the
function of structure, process and
stage™

(A) Penck

(B) L. C. King
(C) W. M. Davis
(D) None of them

Earthquake waves
grouped into

are generally

(A) five categories
(B) two categories
(C) three categories

(D) None of the above
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101.

102.

103.

104.

105.

106.

A stony desert is called
(A)
(B)
(€)
(D)

erg
reg
hammada

None of the above

The floor of the Atlantic Ocean is
mostly covered by the ooze of

(A) Globigerina

(B) Pteropods

(C) Radiolaria

(D) None of the above

is

Surface Current in

primarily caused by

ocean

(A) temperature differences
(B) density differences
(C) wind action

(D) None of the above

The Dolphin Challenger Ridge is in
the

(A) Atlantic Ocean
(B) Indian Ocean
(C) Pacific Ocean
(D) None of the above

The type of rainfall occurring in the
equatorial region is

(A)
(B)
(€)
(D)

convectional
frontal
orographic

None of the above

Ice-crystal theory of precipitation
was propounded by

(A) Bergeron

(B) Evans

(C) Thornthwaite
(D) None of them
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107.

108.

109.

110.

111.

112.

Land for wheat should be
(A) terraced

(B) rough

(C) levelled and undulated
(D) None of the above

Soft wood is mainly supplied by
(A) coniferous forests

(B) deciduous forests

(C) Siberian forests

(D) None of the above

The generation of hydroelectric
power depends primarily on

(A) rainfall in the valley
(B) slope of the valley

(C) load in the river valley
(D) None of the above

Rubber plantations are found in the
forest region of

(A) temperate

(B) steppe

(C) pampas

(D) None of the above

Petroleum is generally found in

(A) igneous intrusion into
sedimentary strata

(B) old fold mountainous belt

(C) alluvial deposits of river valley
strata

(D) folded marine sedimentary rock
strata

Ferro-alloys are known as
(A) rough steel

(B) low-quality steel

(C) special steel

(D) None of the above
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113.

114.

115.

116.

117.

118.

Nathu La Pass is located in
(A) Sikkim

(B) Bhutan

(C) Arunachal Pradesh

(D) Nepal

The river Godavari rises from the
(A) Vindhya range

(B) Satpura range

(C) Himalayan range

(D) None of the above

Alpine vegetation occurs at the
heights between

(A) 4000 to 5300 meter
(B) 3000 to 4000 meter
(C) 2500 to 3000 meter
(D) None of the above

Raka is the tributary of the
(A) Mahanadi

(B) Brahmaputra

(C) Ganga

(D) None of the above

Drought of India is the outcome of
(A)
(B)
(€)
(D)

untimely rainfall
erratic nature of rainfall
dearth of rainfall

None of the above

Rourkela Steel Plant is situated
(A) near Kharkai river

(B) near Brahmani river

(C) near Damodar river

(D) None of the above
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119.

120.

121.

122.

123.

124.

The Satpura is a/an
(A) igneous mountain
(B) residual hill

(C) fold mountain

(D) None of the above

Mountain soil of India is known as
(A) khadar

(B) bhur

(C) podsol

(D) laterite

The growth of population is mainly
due to

(A) decline in death rate
(B) industrialization

(C) increase in birthrate
(D) None of the above

Lakshadweep Islands are the

product of

(A) volcanic activity
(B) wave action

(C) seafloor expansion

(D) reef formation

The term ‘doab’ means
(A) where the delta of river begins
(B) where two or more rivers meet

(C) land between two separate river
systems

(D) land between two tributaries of
a river

Among the following types of biome,
which one has the highest species
diversity?

(A) Temperate forest
(B) Tropical rainforest
(C) Temperate deciduous forest

(D) Temperate grassland
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125.

126.

127.

128.

129.

130.

Which of the following trees, once
very popular in social forestry, is
now taken to be environmental
hazard?

(A) Babul

(B) Eucalyptus

(C) Neem

(D) None of the above

The largest automobile manufac-
turing centre in the world is
located at

(A) Detroit

(B) Tokyo

(C) Birmingham

(D) None of the above

Find the RF when the scale is 2’ to
the mile.

(A) 1:63360

(B) 1:31680

(C) 1:126720

(D) None of the above

The projection by which the
temperate regions are mapped, is
(A) stereographic

(B) cylindrical

(C) conical

(D) None of the above

The objectivity of plantation farming
is

(A) subsistence

(B) business under one umbrella
(C) labour deployment

(D) None of the above

Which of the following is a small-
scale map?

(A) Topographical map
(B) City map
(C) Atlas map
(D) None of the above
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131.

132.

133.

134.

135.

What is the mean of the following
scores?

13, 15, 17, 23, 15, 15, 14
(A) 16
(B) 1557
(C) 1495
(D) None of the above

Simple frequency distribution shows

(A) the value of
individually

variables

(B) the variable in groups
(C) the variables in intervals

(D) None of the above

Width of a class is equal to

(A) upper class limit-lower class
limit

(B) upper class
class boundary

boundary-lower

(C) upper class
class limit

boundary-lower

(D) None of the above

World Trade Organization controls
the

(A) natural resources
(B) health
(C) cultural services

(D) All of the above

In which of the following countries
is the Ruhr-Westphalia Industrial
Complex located?

(A) The USA
(B) Canada
(C) Germany
(D) None of the above
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136.

137.

138.

139.

140.

The world’s largest oil reserves is
found in

(A) The USA

(B) West-Asia

(C) CIS countries

(D) None of the above

Shape is preserved in the projection
of

(A) homolographic

(B) stereographic

(C) orthomorphic

(D) None of the above

Disasters occur
(A) when hazard takes place
(B) when vulnerability is there

(C) when hazard and vulnerability
meet together

(D) None of the above

Chemical weathering includes

(A) oxidation, transformation and

exfoliation

(B) carbonation, oxidation and
exfoliation

(C) hydration, oxidation and

carbonation
(D) None of the above
The heavier silicate named ‘sima’ are
most abundant in the
(A) crust
(B) core
(C) mantle
(D) None of the above
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141.

142.

143.

144.

145.

On January 2017, which district of
Tripura experienced the tremor?

(A) Gomati District
(B) Dhalai District
(C) Unakoti District
(D) None of the above

Westward flowing river of Tripura is
the

(A) Gomati
(B) Khowai
(C) Dhalai
(D) None of the above

The Juri river flows through a valley
between

(A) Jampui range in the East and
Sakhantlang range in the West

(B) Sakhantlang range in the East
and Longtorai range in the West

(C) Longtorai range in the East and
Jampui range in the West

(D) None of the above

A group of interrelated food chains
is known as

(A) autotroph

(B) heterotroph

(C) food web

(D) None of the above

A long, narrow, deep, U-shaped inlet
that represents the seaward end of a
glacial valley, is called

(A) ria

(B) fiord

(C) valley

(D) None of the above
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146.

147.

148.

149.

150.

The Kuroshio Current is flowing
along the

(A) West Coast of Japan

(B) East Coast of Japan

(C) South Coast of Japan
(D) None of the above

A nautical mile is equal to

(A) 6060 ft

(B) 5060 ft

(C) 5280 ft

(D) 6080 ft

The area of occurrence of diatome
zone is in

(A) low latitudes

(B) high latitudes

(C) equatorial areas

(D) None of the above

Close to the equator the tropical
cyclones do not occur because of
(A) weak Coriolis force

(B) light and variable winds

(C) excessive humidity

(D) None of the above

Which one is correct Py5 percentile
among the frequencies of 6, 11, 10,
8, 8, 5, 2 where class interval

belongs from 29-5-34:5 onwards to
59-5 to 64-5?

(A) 38-00
(B) 38-18
(C) 3775
(D) None of the above
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
faferiere fde=en SiceT Fea =g

1.

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.
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T AN pefsice] FIceTl e e 0o 209 | @ Ted fbfs w91 207 ¢olest O S AfEe w1 e A

The candidates should ensure that the Answer Sheet is not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer Sheet.
AR (FICTIE2 OMR Teae[@fb ©% F9¢3 1 | OMR TS0 (GRS 7151 F161 A T80 (1< A 11 | A1 Sroma
G FR TeecE WS T SN =S Sl (I QAR e = o

Handle the Question Booklet and Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR TE7[@ 3% 2R7[0a TIRICH AP o] SReTge 0O 2 | (FICT SR (Y09l Ffb € *Mafosre @b 2el) OMR Ted7[@
S 2o 7Cs Crel AT 1l |

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.

AP SIHCT M-« OF OMR Tea7[(qq 5[ @32 27(Cad 11 fgerelcq force 23 |

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

TR TG FIE G2 FCHI SHRCTADBIG PTG BT ST (I R N FTR1 FoE, 7071 6 JUASTS M2, (eI, (AR
T (AR B [Toiea i “QFl 2@ /0% 2@ 0o (e 23 1l |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator/Examination Officials.

] 20F1 TSGR TS (BN 2R (FCHR T0Cd ~FrHI-1:B I F6 Wi F1 2031 TP R SR TG IS €
FCOI SRCTADD FIE (TS IR AR |

No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat.

CTBR A7MRACHACTD 1 BASIEEoT-97 RO SRHie =Iol [ 7R 203 O P 2 ~A[a$a 0o #=ea 1 |

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

IR BASTGCAGC (TS ST M- [ FFF FACS 2Cd, LT 7] 20 OIS 220eTd #1493 AR
BB b OMR Twglq & (ReqIq 7N |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the Answer Sheet and
dealt with as an unfair means case.

SICHCD Mo« (B T Pl 3R FEITS SASGCebA -7 60 TeR7Iq &l (e Arere (ICal “Rrwi] “Ar 251 el Fce
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Use of any type of calculating device is prohibited.

@ CPICA 40T FTFCIBCIR 2 S7jefeqce] foifem |

The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
(I BREICSS 2P @R OMR  TERACET (G B (R <1 SISl 1 A =11 |

On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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